—

23 =

Q)j(x’g> 7-,__( = ) ) E
Y- - / g (\A...__.‘\:)»C)/‘ Q/"AG} )LJ);“&

3ladlg dmmilall (Sobmd . lade! 5 ypuaid | Bl
YoN g aaldlags oodad] S .
bbb ¥ el |
(ol ]yl Sl 551 (5 g | / (1 i gl | .

Fede Vool ool pladd
: ot | et 1 (3 i}
@ayd Vo) JodI Jlgudl
ook ot | Al ] ook B il e : Eg

ol oS (i | 0t ettbalf W] o il S ¢ )

Gl §ada= Slalygll 4 Jamll (1
daloll §oda= lol5aldl - Jgall (2
dlolyilll= GGl ada + Jull (¢
Janall= LGldl Joda — slolzaldl (o

0l o Tl (il Tt
lolaldl gle Jgull (
-ilalyall gle Sil9y a0l (o
iUy yaoll gle slslydl (¢
silolaltl gle dyloll §oda (

‘P all] 39429 wile [yaldlg Joadl (b Zhaid] g
aalell Jyda dodli (|
Jaall doild (o
sl Sl Gl (-
ool 54 ol il ( 5

S o Sl ol 5l sl €
daalill pidg 3y Laadly Jaall daly; ( |
LaQloll §oda dalsjy dsLenlly Jymil dslyj (o
ll3300 gods Goatilall daly 5 dyLoawlly Jguil dsL iz
A Gloll §oda iy d)Luadly Jyaill dalyj ( >
ol i dakonadl 03 (Sl ] ot it il | s i el & | il
Jads Jaall dosls (
Ly (LI 54 ol doild (<
~alloll 35011 doildy Jaall dosli (-
~alloll 34 501l doildy diGaloll §oda doili ( o

(")



WaE G g bl Gilybaad] 0 Byka S plel (X ) &M gl (V) MW o bl
Byd] (f Uad 2929 Wl (§ dawall

dosleoll dosiy s Glull Jls 08 doslaoll doud Gy 54l 18 dlolGll doslaoll dosd Jhoisi
. aGlill gac Jh o3

i Laiaoy uay Ui Juasi i dobiioll agyi gl gl gl odl bashaisll yiiiy ¥
oLl calyll dhadic 5lly olaoll glasy daladiinoll dlagll syant giey b daislly T 4la
<daLioll 5Lil&elly 4 yls0ll olaiiswl Lay

willy g yaGlll Jadilisill gle d3-%ijoll Slaidill dc goro oIl dylalkl ocs olid yaaisi ¥
Lyl 31l daliy ( gyla¥l Joall oca oIl Haasi

e doilall doyylall dslondl Laily Ll o] L yoi & aig y5alUl Gylalll Hapasi pS0u €
alaoll ole dslidlly asagiig okt 03 Jlocll SlGsiing iyl d3aoliell Slilsoll
iyl Syl Jordasi Jal o 2943 gy Gusallly dyiall dy pyaall ilyaiilly

dalilly Jaaall dasaoll yui JGlicoll Ja oI daoysoll of dalGaall Slyl, 40l 95 a5 0
- dyalall Slaayls

] S 19 Vo Y o Sl N liil] saaf sl ol el
L e il Wigo Glg YR YR VR

CAayhl) cyLa

rh Yh Vb Glad) muy)

)Yo 40" Yo
h= VA 0. Vo
\ e V¢ \ "

fo Y. Vo —

i

O it 01 it ] S (e ot i ot JS | | i Y
]y e

o S o ekl o il | ol | i _Y

el | Gt S ookl et il go2§ T
ol gy 0l e+ @l it P e



It . I.

(dayd £+) - ‘”,-'Im‘ J G|

! il Lo 0 AW 25 1Y
g paoll sleolall 8 aloLidll dagall Gashas lidlatios osato )
olaioll aillagy dyla¥l uilliy ¥
dnolally oulasill dag ol Jashis o3 lllll yos ¥
~gouslall sloicll claily 0sate -2

~soualalll slosic¥l dalos Slghd .0

éal.g.s"wtes-\aah\eccﬁeﬁeﬂ\méweﬁﬂ‘e&"'*JeL%dJ‘u-z"‘L!-m
LU el A s ) cllaall b Lad g sl
‘L,aie‘“w“éeae‘ﬂlel‘uiwdel\séw\ewbemcix\édjui-\
. Balall Jla i S
il dgia 00, v i Jlie g ) L Y ALY
il dgia Fo,ee e ddiag Balall G gl pd o0 i W ALY
?_EAJJL_gl.}i~,~~~dgﬁ.au.fa)d\h‘\la:\laﬁﬂﬁ)(ﬂﬁ\ig\~ué.i
i el Jpean
Codelg ddles clbg pan dgia £ i dawad iV E B o
Sl dgia A, v v Laag Balal) L& cbalal) il ) N Al iy Yo 2. 0
iy el dl) clbg paall dgia 0,000 il o a8 pliy ¥V AL 0
o il 16
o (el Aalas) Lppalaall Aslaad) o Alad) cilidand 5 Gy
Nl gd op JAA) ALl M) LY
Nead il vy B Al geia A il dad dle) LY
et il Y B S el dadlh Lt

aladll g Jsaully giilioti 2o

ol zouid] gdi st 9.1



Mansoura University
Faculty of Science
Botany Department
El-Mansoura, Egypt

Final Examination in Botany May. 2010
Educational Year: First Year Program (Branch) : Chemistry
Subject: B. (106) Course(s) : Physiology and Microbiology
Time : 2 hr Date: 23/6/2010
Full Mark: 60 Question mark :15

_#;{dtl_gw‘v-é_f"trﬂé‘iE()llowing Questions:

Q-1: Write on the following:- (15 mark)

a) How one mole of glucose is converted into ethyl alcohol and CO;. (8 mark)
b) Two factors affecting on permeability. (7 mark)

Q- 2: Give an account on:- (15 marks).
a) Plant cell as osmotic system. (5 mark)
b) Terminal oxidation and release of energy. (S mark)
¢) General steps involved in photosynthesis. (5 mark)

Q- 3: Answer the following:- (15 mark)
a) Seclect the correct response  (Mark for cach)
1- Bacterial cell wall composed mainly of (a- pectin b- peptidoglycan  c- cellulose  d- chitin).
2- The green alga Chlamydomonas is (a- unicellular non motile b- colonial non motile
c- colonial motile d- unicellular motile).
3- Main chemical component in viruses (a- protein ~ b-lipid  c- nucleic acid  d- nucleoprotein)
4- Five kingdoms system for living things classification was proposed by (a- Koch ~ b- Haeckel
c- Copeland d- Whittaker).
5- Zygospore is a result of ( a- sexual b- asexual c- vegetative d- none ) reproduction.

b) Fill in the gaps (Mark for each)
1- The fusion of two morphologically similar gametes in algae is known as --=----=-=-=-=-=---- '

P they are viruses infecting bacteria.

3-All photosynthetic organisms are eukaryotic except ---------------- .

4- The fruiting bodies (ascocarps) of ascomycetes are ----------- e and ---------- _
§- -oemeee- jrom e R and -------- are the main phases in the bacterial growth curve.

¢) Match true (V) and false ( x ) (Mark for cach)
1- Viral genetic material is only one type of nucleic acid. ( )
2- Linnacus credited binomial system of nomenclature. ( )
3- Bacteria have circular DNA called plasmids. ( )
4- All fungi are heterotrophs. ()
5- Life cycle of algae may be zygotic, gametic or sporic meiosis. ( )

Q- 4: Briefly explain only THREE of the following (Draw with labeling) :- (15 mark)

a) Discriminative features of viruses regarding to lysogenic cycle (5 Mark)

b) The place of microorganisms in nature with special references to their economic importance.(5 Mark)

¢) The life history of Puccinia gramins. (S Mark)

d) Bacterial cell structure and outline the binary fission. (S Mark)

e) General characters of chlorophyta and illustrate the life cycle of only genus related to this phylum. (5 Mark)

With our best wishes

Examiners:
Prof. Afaf Gaber Dr. Adel A. Al-Morsi

ki
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Mansoura University Second Term
Faculty of Science Level 1 (Chemistry and
Chemistry Department Biochemistry Program)
Subject: Chem 121 Time: 2 hours
(General and Inorganic Chemistry) Marks: 60

ANSWER THE FOLLOWING QUESTIONS (THE EXAM IN TWO PAGES)

1A) How many grams of HCl is required for the reaction with 25 gm MnL)z?
MnO; +4HClI —» MnCl; + CL; +2H,0 ,
How many moles of Cl, will be formed from this reaction? (8 Marks)
Mn=55 H=1 0=16, Cl=35.5)

1B) True and False (choose the correct response); correct the wrong one so simply (7 Marks)

1- (T-F) MOT shows that B; is paramagnetic. (sB)

2- (T-F) In the reaction of 2 moles of O, with 2 moles of S yield 5 moles of SO,.

3- (T-F) The limiting reactant is the reactant which consumed firstly in the
chemical reaction. _

4- (T-F) MO diagram structure of H, molecule is o(1s)® o (1s)". (:H)

5- (T-F) Isoptopes are atoms that have the same mass number but different
atomic numbers.

6- (T-F) The geometry of H,O is llnear (iH, s0)

7- (T-F) The Lewis structure of SO3 shows 3 bond formation. (MS, s0)

2A) Write (V or x) in the following statements; Please give a reason for your answer:- (8

Marks) P

i) Each sub-shell consists of one or more orbitals.

ii) Ionic bonding results when electrons are transfer from one type o‘ atom to another.

iii) The order of increasing the atomic size Na > Li > K. (1;Na, 3Li, 19K)
iv) The polarity of bond increases as follow C-N > C-O > C-F (,C, 50, oF,

2B) Chose the most correct answer:- (7 Marks)

1) PFs molecule has
a) pent structure  b) AB,E; molecule ¢) sp’d hybridization d) tetrahedral

e) non of the above are correct

2) According to VSEPR model, the NH; molecule is
a) triagonal pyramidal b) angular ¢) linear d) bent structure
e) all the above are correct ‘

3) CO; molecule has
a) trigonal geometry b) double bonds ¢) linear structure
d) ionic bond ¢) b & c are correct

4) The electronic configuration of phosphorous atom (P) with Z =15 is
a) [Ne] 3s” 3p’ b) [Ne] 3s' 3p° ¢) [Ar] 35 3p* d) [Ne] 3p%  e) [He] 3s? 3p*

5) The number of neutrons present in B3y is :
92 !

a) 92 b) 235 c) 146 d)143 ! ¢) 64



6) The element with electronic configuration 1s” 25 2p’ is
a) in second period b) in the fifth group c) p-block element d) Nitrogen
e) all the above are correct

7) On the bases of VSEPR molde, SF4 has .
a) square planar geometry b) sp° d? hybridization c) one unshared electron pair
d) non of the above e) b & c are correct

1sP, oF, 7N, 1H, ¢C, 30, 165, oF, 17CL

-----------------------------------------------------------------------------------------------------

3A) On the bases of Molecular Orbital Theory (MOT), answer the following: (7 Marks)
i) Is Be; is a stable molecule? (/Be

ii) Which is more stable O, or O,”? (50

iii) Which molecule is paramagnetic: NO or NO*? (5N ;0

3B) Answer the following:- (8 Marks)

1- 5 g of Carbon reacts with 2 g of O, to produce CO,; what is the limiting reactant?
How many grams of CO; are produced? (C=12, 0=16)

2- Calculate the wavelength and frequency of the line in the hydrogen spectrum
corresponding to electron transition from n =4 to n =2?
(Rydberg constant = 109678 cm™’, Velocity of light (c) = 3 x 10° m/s, Blank's constant =
6.62x 107, A=218x 10" J)

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

4A) Draw the resonance Lewis structures for the following compounds: O; and N,O.
Predict their geometry. (30, ;N) (7 Marks) -

4B) Complete the following:- (8§ Marks)

1- The electronic configuration of Gallium (Z=31)is ...............

2- 2.2 mole of KNOy CODLAINS .-.x. s - ssmmsmns s cvwsnes sunse gram (K =39, N=14, O =16)

3- Formal charge of S atom in SO is ........ while that of O is ......... (165, 30)

"4- The percentage composition of OXYGEN in KCIO; = .................. e

(K=39,Cl=35.50=16) ‘L

5- The element with Z =7 i8 . ....cc.i: cssnnniisnssan magnetic due to the presence of

O — is an example of ionic compound while ......... is an example of polar
covalent compound while .......... Is an example of normal covalent compound.

7- The ionization energy of Nis ............ than that of O due to .........cccueeunnneeee. (N, 50)

8- Number of electrons that can present in the principal quantum number‘n = 3 (third shell)

9- The four quantum numbers (3,1,1,1/2) is expected for an electronin .......... Orbital.

our best wishes
Prof. Magdi Bekheit,
Prof. Sahar Mostafa



Mansoura University
Faculty of Science

Chemistry Department
El- Mansoura, Egypt

Second Semester May 2010

Educational Year: First Level Program: Chemistry
Time: 2 hours Subject: Organic Chemistry
Date: 14 /6/ 2010 Course Code: Chem. 131

Full Mark: 60

Answer the following questions:-
[1] a- Draw structure formulas for the products of the 0zonolysis and show configuration cis/trasns

System. [ 5] Mark
A B
b- List the following in order of increasing acidity: [ 5] Mark
Cl
- . Mii- OH i - OH - o
¢- Draw the Lewis Structure for two of the following compounds and calculate the formal charge.

, o O
i-HCO; ii-CH;F 1ii- ClO; {3] Mark

2] a- i-Consider 1-bromopropane,CH3;CH,;CH,Br Draw a Newman projection for the conformation
in which —CH; and —Br are staggered & eclipsed.[ 5 ] Mark

b- Give the IUPAC name for three each of the following compounds: [S ] Mark

OH OH o
iz >I< ii'/k'(O‘H i - ﬁj - L v A o
O

¢- Compare by equation reaction of ethyl magnesiumbromide [S] Mark
with the following.
a- CH;CHO  b- 0=C=0  ¢- /\n,om
o)

[3] Answer Three of the following Only:

a- Starting with benzene, outline a synthesis o:
i- p-Bromopropylbenze ii- m- Bromopropylbenze

sl b i) dlai (e PT.O —>




b-Determine the type of isomerism and draw all possible isomers for each of the following

compounds [S] Mark
i- C4H;9O ii- C4Hg iii-C4HoCl

c- Acid-catalyzed hydration of 3,3-Dimethyl-1-butene gives 2,3-dimethyl-2-butanol as the major
product. Propose a mechanism for the formation of this alcohol. [ 5] Mark

[4] [A] Show reagent and experimental conditions for the following transformation and also
name for compounds: [Three only]

[9] Mark

(0]
£ = . = 2. A

Cl
2- LR d

o

(=0 O
[B] Each of the following compounds are give Diel's-Alder reaction, when react
with =-“"°  explain by equations [6] Mark

S o

GOOD LUCK

Examiners:
Prof.Dr. Wafaa S. Hamama Prof.Dr. Moged Berghot
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Mansoura University Flrst Level Second Semester 2009-2010
Faculty of Science Geo&Chem, Zool&Biochem, |June, 2010
Physics Department Botany, Enviro, Chem Time: 2 Hours
Subject: Phys 102 (Electricity & Magnetism + Optics)

Answer All the Following Questions: (Full mark: 60) Mark

1.a) | Write briefly on the following: 1) Phase difference and optical path difference, (1)
11) Wave front, (1) 111) Total internal reflection, (1)

1v) Numerical aperture of optical fiber, (2) v) Dispersive power of a prism, (1) | 9
vi)Gaussian and Newtonian forms of thin lens formula, (1)
vir) Origin of lens aberrations and how to correct. (2)

b) | Discuss how the liquid refractive index is measured using Pulfrich refractometer. 3

¢) | A light-ray of wavelength 650 nm is incident on a slab of glass (refractive index
1.52) at an angle 30° to the normal. What is the angle of refraction? What are the | 3
wavelength and frequency of the light inside the glass?

2.5) Give the physical meaning of; 1) magnetic field and electric field intensities, (2)
i) Hall effect and its use. (2) 4

b) | An electron having kinetic energy 20 eV is circulating in a plane at right angle to a
uniform magnetic field of 1.5x10™ T. Calculate: 5

i) its orbital radius - 11) cyclotron frequency and iii) period of revolution.

c) | A material containing free electrons, ions and some dipolar molecules is placed in
an electrostatic field E. Compare between their relativistic motions under this | 4
elc strostatic field.

3.a) | Define the following terms and give their units: 1) Electric current,

1) Electric potential, = 1ii) Dielectric constant, 1v) Resistivity, ]
v) Capacitance of a capacitor.

b) | Calculate the electric field at point (P) located at distance (r) from: 1) point charge,
11) dipolar molecule, 111) inside and outside insulating charged sphere. 10

Comment on your results.

4.a) | Silver wire of cross-sectional area 4x10° m carries a current of 5 A. find the drift
velocity of the electrons in this wire. (Silver density=10.5 gm/cm’, Silver molar | 7
mass=108 gm/mol and Avogadro’s number=6.02x10* mol™)

b) | Two capacitors C;=25 uF and C,=5 uF are charged to the |—+—§'F=é=——"|
same potential difference V=100 V, but with opposite | S, / 1 S,
polarities. They are removed from the battery and ¢ 1 C, \
connected as shown in Figure (a). The switches S; and S, -3+
are then closed as in Figure (b). Find: 1) the final potential (a) d
difference between points a and b after the switches are -H
closed. 1) the total energy stored in the capacitors before S, G S,
and after the switches are closed. 25 0s '
(b)

With our Best wishes

Examiners: | Prof. F. M. Reicha Prof. M. Tounsy

Dr. N. Kinawy Dr. A.-R. Lashin
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